CONTROLLED

§
vy RHINO-RACK
43208,43209,43210 - Rhino Heavy Duty

Cable Lock Kit.
R885 Issue No: 02 Prepared: Kayle Everett
Authorised: Chris Murty Date: 16/06/16

s
o

Item Components Qty Part No.
1 |Saesorone | 1| catsss o0
' ' CA1599-1800
2 M6 x 25mm Cap Screw 1 B039
3 M6 Spring Washer 1 WO004
4 | M6 Flat Washer 1 WO003
5 | Cable Lock Housing 1 M806
6 | Barrel/ Key Assembly 1 CA1339
7 | M6 Channel Nut 1 NO002
8 | Anti Rotation Washer 1 CA1520
9 Allen Key 1 H002
10 | Instructions 1 R885



rodr
Small Controlled


